B4 R

SATTETER [4EEH]

JACTHTSE N 288

5 G i AR E e A = [ [ e ket vy N R = - S e 411 £ =1
A 7 oA M R AR |46 | T BOoH MR el
1 A | FEENTHE PTAMA S D|6| O
EEEES 15:55 X
(R4 EZ2 A0
2 KX |3FEETH Al6] C [16:30 X
3 A |8 7 5 n[FEEER Fl4a] x [12:30 O
4 e @]
5 H i @)
6 A |EMERS cle] O 116:30 O
O aST i IR A R
7 * Al8] O [16:30 O
3 K\RE S D6 O [15:55 O
9 A A6 O |16:30 O
10 & A6 O |16:30 O
11 + | TAEZEIDSH | @)
12 H )
13 H Al6| O [16:30 O
;%mﬁméwhfgkl, SiEIE . s
14 | &k |AEfEES clse| O [16:30 O
15 | &K |BEHTHE Bl 5] O [14:55 O
16 | K Ale]| O [16:30 O
1 & 4 Al | O |16:30 @)
e e O
19 H @)
20 A Ale| O |16:30 O
21 ] k& [ () FHOH @)
22 A [ EENIFE B|5| O [15:55 O
[&HOH
23 PR Al6] O [16:30 ®
2 4 N Fel 3] X |11:50 C
Tk Bt 2= 5%
215 e 2
TG 2 )
27 | H FAERMAER (~T7TH) @
28 P &
29 7K ®
30 A HRAEE O
31 4 O
3 H ) '20R (OR) EERZEAS
4 H ) I : FhRERGR (Esthdl)
5H ) V2 1T H (4 FEEERRF (2 HhEg)
6 H R HESE ir#Qzﬁ%&ﬁﬁ;ﬁ%524ﬂ(ﬂ)ﬁﬁﬁﬁﬂ§
4 HiT¥H 10R (A) @it - sl 125 B (k) BINAFEHEEZR R =
118 (k) A% 126 H (K) AR E =R
12R0 (k) i*fﬁﬂit RS ! AR LRI HEDYE
VRS /fjﬂr/r H W 1270 OR) 2EFHRAE - KEA T A 2 (3F)
130 (R) Huei:t e V2 8 H (&) fFESE
140 (&) &ERE 3 s i PTAKRZ:
mwﬂﬁﬁ%.&mL%hA
17B(H)¥ﬁﬁﬂﬁw_wv4-ﬁ(~%m)
%‘ "J)Frﬂ ( J
18H (K) % !
19H (k) 1 :

i
b s




